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Operations from the right act on the
columns of the matrix. This
expression can be seen as the three
linear combinations in the right in

one formula.
3

N
I

{ }ﬁ:{ 1 } [ ] = [ 2] S sing
P2 — 2
o o o mmzmm 3 (2] = o[+ 2]+ -] ) w2

Operations from the left act on the

rt})ws of the matrix. This expression [ 3 ] = .[_]'i' .[_J + .[_]
can be seen as the three linear

combinations in the right in one

formula.

B %X 1, 2- (P1), (P1)
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Applying a diagonal matrix from the right Applying a diagonal matrix from the left
scales each column. scales each row.
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This pattern makes another combination of columns.
You will encounter this in differential /recurrence equations.
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dsllcs
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A matrix is broken down to a sum of rank 1 matrices,
as in singular value/eigenvalue decomposition.
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